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MENSURATION - 2D (AREA) ASSIGNMENT

The length and breadth of a playground are 62 m 60 cm and 25 m 40 cm

respectively. Find the cost of turfing it at Rs 2.50 per square meter.

QH leenwTl B MIDHTEIHH T Hemld WBBID DiHeod (PemGui 62 15 60
Qg5 wmmpd 25 15 40 QFS SGW. @ FHT WLLMHSG . 2.50 e1em
allenevuled SIS FIOULBHHHIUBHBHTET allenevenUIS BT MIUIeLD.

A playground has the shape of a rectangle, with two semi-circles on its
smaller sides as diameters, added to its outside. If the sides of the

rectangle are 36 m and 24.5 m, find the area of the playground. (z = %)

R alewenM (B eWHTAID @ OCFeius augausHmeHd OBTEIH, DIgHeo
FRw  uSHSmIBEn6N Al Lioned OTewi.  @Jewi(hy SID UL L MIH6T, SHIFHeoT
CeoualliBSHSHev CaJosslLL Beienear. OFaIMSSHHE LSIEST 36 15 LOBBID
24.5 15 etevfled, @leW6muUT B eNDSHTETHH6T LIFLILIGTENE HiT6wIb. (;zzg)

Find the height of a trapezium, the sum of the lengths of whose bases

(parallel sides) is 60 cm and whose area is 600 cm?.
FfloudsSHH 6 HeNmIH6r 6ot (Bemem  LUSHBEIGBT)HTSHHE Tl BHOBHTNS 60
OF.16 1BE@IDd IHeT UPliLene] 600 GF.15°, eefled 2 UITHmHDH HTEIH.

The base of a triangular field is 3 times its height if the cost of cultivating
the field at the rate of Rs 25 per 100 m2is Rs 60000; find its base and

height.

R (WPWHCHTewT  auwlelell  DIQLILIGH DS 2 wFHmdH Il 3 ILmIG
SIFBOTGID. 100 157 &H@ 25 epumul aigd eluied FT@Uy GFeva 60000
HUTUI 6T6IIMBT60 DIHET DIQLILIGH OBBID 2 WTHmBHDH HT6w0IH.

A poster of size 10 cm by 8 c¢m is pasted on a sheet of cardboard such
that there is a margin of width 1.75 cm along each side of the poster.
Find
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(i) the total area of the margin

(ii) the cost of the cardboard used at the rate of Rs 0.60 per cm?2.

Qb LS HTefled 10 GFS wBBIdD 8 GFS SlenayeTen e &eUGTTL I
QULULGSBS, FTeud FaOyrlguisar @ealteumm usssHHeud 1.75 GFL
OB aleflibL B(hHbESLD.

(1) elefibier GomgHs LFLLETIS HewILNluieD

(i) @ 65157 && . 0.60 aaiB aldspdHHe0 LWATLHSSUILGL DI emLuller
Al6MEVENI  BHITCITSH.

The area of a rhombus is 98 cm?. If one of its diagonal is 14 cm, what is
the length of the other diagonal?

Q(H FTUIFSHITSHSHeT UFliLeTe] 98 GFI5 SGD. ST cpenevaill L HHe0 Q&M
14 Qa5 6leIBmTeL, OBOMTH cLpeneLaIl L GHEHleT HeND 616316017

The sides of a triangular field are 975 m, 1050 m and 1125 m. If this field
is sold at the rate of Rs 1000 per hectare, find its selling price. (1 hectare =
10000 m2)

(WPp&CHTem 696l HlevdhHler LSBmIS6T 975 15, 1050 5 wBpd 1125 5. BpHsH
W @ OamsCL(hEE 1000 apuTUISE aIBSUILLLT6D, DS  alBLIeN6T
alemevenwid HTenid. (1 CamdELi 10000 15%)

Pradeep wants to make a semicircular arch design at the entrance of his
house with three equal sectors, to be fitted in the iron frame. Find the
length of the iron frame required and also the area of each of the sectors
for which the mirrors to be fixed. (Radius of the semi-circle = 49 cm)
gsLl, Heoidl il 9eT HienpauTulelley, c&Iml FIO Slena|eiTen Ul L &G memnILl
UGHBmend  OeTewiL. Sedjall L algaleomel  eaudenalenel,  @HLOLF
FLLGHGHemerl UWaSTUBGSHSH  Demndd  al(hUSDBIT. DendH 2 (HeUuTdhHdH
Chremau LB HOUF FLULHH HOTSHMBUID, HewIenIMg GILIT(HHHIMNHBHTHL
LMl asLIul (Heiter PIIABIING) LI@&SuTlest LITLILIGT6R6UU LD HITCUOT .
(SimyaUl LSFHer b 49 GF.16)

A Rose garden is in the form of circle of radius 63 m. The gardener wants

to fence it at the rate of X150 per metre. Find the cost of fencing?

63 15 Sweiter el L augaled @ Grmmrsh GHTLID o 6iTengl. IH6
CxpmL&amyT, W LHHG 150 aisb CFeve GFuigkl, DHCHTLHHMBG Geued
SIMWHE  alHLUSBIT  6leled, DUSME G OWTHHF  GFevenald
BT (Hb.

The area of a triangle whose vertices are (1, 2), (-3, 4) and (-5, -6) is.
(1, 2), (3, 4 wspw (-5 -6) pFweBMB WPORNHENMMTHDS  OCHTERIL
(p&HCHTEu0TSH 60T LITLIL|EHT6U0T.
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1. A ground is in the form of isosceles trapezium with parallel sides
measuring 42 m and 36 m long. The distance between the parallel sides
is 30 m. Find the cost of levelling it at the rate of ¥135 per sq.m.

QT  OLSHTANOTOIH  E(HFOUSSF Fleudbld algaled 2 6Tl  DLDHTEH S 6T
BDewewil  udbsmGBeT 42 15 wBpd 36 5. QmewilILsBHIBEHDHS
el Buiujeiien  OFHTemevey] (2_wigib) 30 15 e@fled, DHH MDHTETHMBHF
FOLLGSS @ F.185E I135 aisd eeleuenea OFee| SuE&ID?

12. The arc length of a sector is 66 cm and the central angle is 30°. Find the
Radius

aleveler Hemd 66 cm  BEID wwwsHGsTewnid 30° G aul L& Camewill
UGS U6 LTLD SHT60l.

[3. A rectangular piece is 20 m long and 15 m wide. From its four corners,
quadrants of radii 3.5 m have been cut. Find the area of the remaining

part.

R Ogeleus Glewih 20 15 penpd 15 15 BeOPD OFBTENIL Gl  DISH6IT
BT6IG eLPEM6VSB 6T 60 (HIHSILD, 3.5 5 omidefled  SHevaul L UG
Ceul L LINGSm&!. B&(peiTen LiGSHulest LFLILIETeN6  HT6ulH.

14. Three equal circles of radius 3cm touch one another in outside. Find the
area enclosed by them

3.5 SUIeTen (&Ml Ul L HIG6T eailenpwmeiy GeouelGuw CeHTBHLGUTE
SIUBMTE0 GUILGL UGSHullesr UL

15. The base of a parallelogram is twice its height. If the area of the
parallelogram is 512 cm?, find the base and height.

QB BOWBISGIE  SYUILIGH DS 2 UISFE BB ILBEG  AGWD.
e BIHHe LUFLiLene] 512 GOFL5 elafed, DIQUILSSHHMSUD 2 WFHMSHUD
SHITE0T 5.
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